DIN #rEREsL

S HMORARHE

T

S1 ‘

N L[]
— PSR/ DPR 71 T
- O~ < v—‘
ol L.t JI - %100 i} al ol _
N - N I—& Q Q Q | I ’
=y T
L2 La L3
L1 L5
D
D1 T1EE A (bar)
=
X T1 D3 D4 L1 L2 L3 L4 L5 S1 /1% i8S CF 71
LL 04 | M8x1 50 | 3.0 12 8.0 6 40 | 125 8 3 S04LL 100 | 100
06 | M10x1 75 | 45 13 9.0 7 55 | 145 | 10 4 SO6LL 100 | 100
08 | M12x1 95 | 6.0 14 9.5 7 55 | 145 | 12 6 SO08LL 100 | 100
L 06 | M12x1.5 8.1 | 4.0 16 | 115 | 10 7.0 | 185 | 12 9 SO06L 315 | 315
08 | M14x15 | 10.1 | 6.0 16 | 115 | 10 7.0 | 185 | 14 1 S08L 315 | 315
10 | M16x1.5 | 123 | 8.0 17 | 115 | 10 7.0 | 185 | 17 15 S10L 315 | 315
12 | M18x1.5 | 143 | 10.0 | 18 | 12.0 10 7.0 | 19.0 | 19 19 Ss12L 315 | 315
THE RS
i) REALE B
RAtH
;@ﬁgﬁ B, TAM B CF S10LCFX
RIS TEHE 71 S10L71X

m D14 iR 4100/CH



